2HQIYAEFIIIU=L

=5 4Y/HIE o[0ix|

 a ) N\ Wmﬁ
; i:TTT; !%W\Wﬁ“ =
-

© HEINRICH KIPP WERK GmbH & Co. KG

My

THE!:

AR T

2 E Est Xl
4 52 5.8.
AHIQIPA AE HA:
&= E Fs ®Mal:
LIA} £2]E 1.4305.
2 El 1.4034.
HIZE, SRR 2tZ
LIA}F &£2]E 1.4305.
A2 El1.4305.

7| 2 1.4310, 243

HH OIFE

25T

Ha T a3 Aot 4 M3 R E|
AE[QlEA AR T

HaE Zgst, oot & E™3

HaE g3, oot & S>3 T(X| S
HH.

QA ZEHX = FH Eol 2F &5 IX[2
HZEE YXlsof st R0l ALEF. HX
EEEEFCOEES ARIZ olEE =
AE. 7| B2 Y ABIHE 08304
Ha 2B XS HS(Z 2O Koq)0|

Jts gt

Al

S5 A HE,

= M.
El R: &3 HE ¢
Elel S: &= HE Q!

0 Ko

www.kipp.com - info@kipp.com

1/3



°
i —— |- — —
AHQIYIA E 371 U= A8 E2 AH|QA lHIA SR
=M
® ®
D4
| /
Swi 11 /
Sk i am
! SWw2
. [ [ ] f
] B L
||
w
ES 9%
ol Z x|
FEHS Et ] B & Era D D1 D4 L L1L2L4 2EE3 SW1 Fx30° INES] EiRE)
712 = S EbA E2
F12E N F22. N
K0342.3004 R AE 23t 4 M8x1 154015 6 13 4 10 1 6 12
K0342.3105 R A a3t 5 M10x1 23 5217 7 15 5 13 1,3 5 12
K0342.3206 R AE A3t 6 M12x1,5 23 57 20 8 17 6 14 1,8 6 14
K0342.3308 R AE PEE 8 M16x1,5 28 72 26 10 23 8 19 2,3 15 35
K0342.3410 R AE a5t 10 M20x1,5 28 78 28 12 25 10 22 2,8 15 34
K0342.03004 R AE|QIEA AE A3t 4 M8x1 154015 6 13 4 10 1 6 12
K0342.03105 R AHQIHA AR z3t 5 M10x1 235217 7 15 5 13 1,3 5 12
K0342.03206 R AE|QIBA AE A5t 6 M12x1,5 23 57 20 8 17 6 14 1,8 6 14
K0342.03308 R AE|QIBA AE A3t 8 M16x1,5 28 72 26 10 23 8 19 2,3 15 35
K0342.03410 R AE[QIBA AE PEL 10 M20x1,5 28 78 28 12 25 10 22 2,8 15 34
K0342.13004 R AEQBA A HIZE 4 M8x1 1540 15 6 13 4 10 1 6 12
K0342.13105 R AHQIF A AL HIZE 5 M10x1 23 5217 7 15 5 13 1,3 5 12
K0342.13206 R AE[QIBA AE HIZS 6 M12x1,5 23 57 20 8 17 6 14 1,8 6 14
K0342.13308 R AEQIBA AE HIZEE 8 M16x1,5 28 72 26 10 23 8 19 2,3 15 35
K0342.13410 R AHQIF A AL HIZ3 10 M20x1,5 28 78 28 12 25 10 22 2,8 15 34
K0342.4004 S AE] PEE 4  M8x1 154015 6 13 4 10 1 6 12
K0342.4105 S A a5t 5 M10x1 23 5217 7 15 5 13 1,3 5 12
K0342.4206 S AE PEE 6 M12x1,5 23 57 20 8 17 6 14 1,8 6 14
K0342.4308 ] AE] PEE 8 M16x1,5 28 72 26 10 23 8 19 2,3 15 35
K0342.4410 S A a5t 10 M20x1,5 28 78 28 12 25 10 22 2,8 15 34
K0342.04004 ] AHQIF A AL PEE 4  M8x1 154015 6 13 4 10 1 6 12
K0342.04105 ] AHQlE|A AR PEE] 5 M10x1 235217 7 15 5 13 1,3 5 12
K0342.04206 S AEQIBA AE a5t 6 M12x1,5 23 57 20 8 17 6 14 1,8 6 14
K0342.04308 S AE|QIBA AE PEE 8 M16x1,5 28 72 26 10 23 8 19 2,3 15 35
K0342.04410 ] AE[QIBA AE FEE 10 M20x1,5 28 78 28 12 25 10 22 2,8 15 34
K0342.14004 S AE|QIBIA AE H|ZAS 4 M8x1 154015 6 13 4 10 1 6 12
K0342.14105 S AE|QIBA AE HIZS 5 M10x1 235217 7 15 5 13 1,3 5 12
K0342.14206 ] AH|QIBIA AR HIZ3 6 M12x1,5 23 57 20 8 17 6 14 1,8 6 14
K0342.14308 S AE|QIBA AE HIZAS 8 M16x1,5 28 72 26 10 23 8 19 2,3 15 35
K0342.14410 S AE[QIBA AE HIZ3 10 M20x1,5 28 78 28 12 25 10 22 2,8 15 34

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



2ZH2IIA E 3919

ES 9%

rir
|>
im
Jo
rlo
|>
I
re
=
|>
o
1=
>
[
i
2

© HEINRICH KIPP WERK GmbH & Co. KG ki
www.kipp.com - info@kipp.com 3/3



